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Fourth Semester of Three Year LL.B. Examination, June/July 2012

INSURANCE LAW (Optional — 1) (Course — Il)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all 5 Questions.

Q. No. 1.(a)

Q. No. 2. (a)

2. One essay type and one short note question or problem from
each Unit have to be attempted, which is referred as Part (a)
and Part (b) in all the Units.

3. Figures to the right indicate marks.
4. Answer should be written completely either in English or in
Kannada.

UNIT -1

Discuss the state control of Insurance business in India. Marks : 15
PRTBTE a3 ﬁagdmdd B0 BT @odaogeadag 233 0.

OR/e5ss
Explain the history and growth of Insurance in India.
PRTBTOT Q0D YITIR T w@weéﬁodﬁaq QWOR.
Insurance Market. Marks : 5
AR drad)é@i :
OR/egss
Investment of Life fund.
220w QO TRET.

UNIT -1I

What is Premium ? What is the effect of non payment of
premium on the policy ? What reliefs are provided against the
forfeiture of the policy for non-payment of premium. Marks : 15

DR 20T ? VR TWOUCH et Fo2> PRI
BommmITeR) 7 Bod> TRIIOIRN TOLD F0e iR DT
2R BOTONDT 2

OR/egw

P.T.O.
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2-

What is assignment of an insurance policy ? State the rules
relating to assignment of policies in contract of Insurance.
2R TORAOD [REBEH DOTTERD ? Q0D FTOTE). TAAOD
SMOF R B30 QTOS E’Dcmdarﬁ%ﬁﬁg{ EPR.

Decide the following case :
FINST TTTED QEAFCWR:

Goutham an insurance policy holder assigned his policy to
Guru by endorsing upon the policy. But that assignment of
policy from Goutham to Guru was not informed to the Insurance
Company. Whether notice to the insurer is necessary for the
validity of the assignment ?

DRR TRORCPTY BROOTIT  MEZRIR, MOTO QOWIBIN
m@%oﬁaaﬁg{ ©wG8 B0 [RETORRT H[wewT dmro&oﬁ)@aﬁ.
<S03 83 TOOI0D dmrﬁﬁoda:% DRP FOTIN  GPATIRYOY,
TRORCD TRFREOD BRFFOD e, QDBNTOTIN SPRITYTI
NS ?

OR/egss

Ranjith insured on wheat in his warehouse against fire. He sold
the wheat to a company of which he was the sole substantial
share holder. Thereafter most of the wheat destroyed by fire
and he demanded that he should be indemnified. But the
insurance company refused to indemnify the loss. Can the
Insurance Company do so ?

T0zZR0 B3 MATRITYTOR Reert w300t IRE é’bdacgp QDT
TTR TR, @m0 é%ﬁme@oﬁog’% 20000 BoTN WRTOZS. &
BOTAONY, BRI B B0 BeTRY, TeodWS. IoBT BF
RRRVTIT RRCQOX tIod0d WITRBHOT IR, LINTT.
3 SRFW B Bo0wBRELIEFT I FoTIODRY, T, D
TOTACKD T, BOOWBRBED ATIBORZH. Qa3 FOTIOIND Tt
QTIBORWRIT ?

Marks : 5



Q. No. 3. (a)

Q. No. 4. (a)

-3 0403
UNIT -1l

Who are the persons entitled to payment of Life Insurance
money ? Marks : 15
VN Tvelows) &saﬁabq v ipin] 5£ﬁ% R30S 9

OR/e5s?

What are the contents of Life Insurance Policy ?
22033 DI TOORIOIN WINRORTVT L0BNTR)) ?

Write short note on : Marks : 5
OFPO TS 2T :
Nature of Life Insurance
230TVTI TIED ,-\C)’smd
OR/e5s?

Compulsory Insurance of Motor Vehicles.
BRI TBINY TEIOD 2.

UNIT -

What are the characteristics of Fire Insurance ? Marks : 15
@ 0D noes @ﬁf@ﬁ%@@ ?

OR/e53s0

What are the contents of a Fire Policy ? State its scope.

NDEH0D TWOVTD WIRRORTHT LoBNFPT ? LET TYHODR),
SPR.

Decide the following case : Marks : 5
BINT TBOLTRI, VEDF R

Gowrov insured his car with Galaxy Insurance Company, later
with another company called Moon Insurance Company.
Gowrov’s car become liable in damage to a motor cyclist. Which
insurance company is liable to compensate the loss to motor
cyclist ?

NYT B3 T0r epg HBR TOBAICWOT D> BEOWS. [T
BT QR 5%@&5&@0&@ 23 TON wcéamﬁ aRlorn
T30 ), BT BTN 5%1 PUORDRNAT. CIRT IR FoT0IN
il dezoﬁ SR, 30w %@céaﬁe@méd ?

OR/e;ac;Sm
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Q. No. 5.(a)

4 LRI

Santhosh insured his sugar in the godown against fire for an
amount of Rs. 50 lakhs. In a fire accident his sugar stock worth
of Rs. 38 lakhs lost by fire. To what extent insurance co. is liable
for the loss.

ROZRET B MREHISY RTTN @NRRO0I) de. 50 wBf
TEOmS. o) 53003 33 ‘)%60333 dn.38 SYTRY, IR,
BRBIFRD o DR, IPOT dwé Msamdmﬁmso

UNIT-V

What are the excluded losses under the Marine Insurance. Marks : 15
B é)ﬁaoja@q DONIRATID s%m@@ 2

OR/egw

Explain the various kinds of policies in Marine Insurance.
BEO DRODYT NG TOINTTY, DEOR.

Decide the following case : Marks : 5
BINT TTOLRB[I), SERIFIN

The rats grawed a hole in a pipe and sea water entered damaging
the cargo of wheat and there was no negligence on the port of the
carrier. Whether insurance company is liable for the loss ?

BENFY, 20N TRNS FRIY Tog, IREE) 83 BZT =RWT
decﬁaeda BN SN ﬁdﬂséd nReQN m@o@o@s&dm@cﬁ
%dﬂﬁ 308 FRBEI om@de éb@r% 3e0T0RRY . T
FOTA0I) BRFBMOTINIZTIIE ?

OR/egw

The policy on a ship on a round voyage from Mumbai to Chennai.
But from Chennai to Mumbai she neglected to take sufficient
coal as its fuel to reach Mumbai and as a consequence she had
to burn some her fittings and cargo as fuel and claimed the loss.
Whether insurer is liable for such a loss ?
20030 TN 00RO WFT 089 3F0T Badowedort
deDSéf\)QD TENS OIRT T@NOC?DR’D ?D@@Cg 3533 255 00T
dmowo&oﬁ BEM TOTIREIRITN 35 @@r% 2200 %@d@db
¢3T30 VTIRRN 330&3%@0@@ e;m@mdamﬁ RO 33, %@@
uBESEInER) FFy FOBNGR) CUTORN T, B SRARD

33022)&@&%@3 ée@?d @dra %sz’Oom =3 ﬁoﬁ? BRBNOTSC ?




